
The photoionisation cross section, starting from Fermi's golden rule in the
dipole approximation is given by
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The energy
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The wave of function of the electron con�ned in the ring is given by
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where
The Matrix element, considering two states with both n = 0 and m = 0 and

m = 1 for the initial and �nal states, polarization in the x axis, respectively is
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where the energies are

λ00 = γ2 (βi + 1)− γ4
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λ01 = γ2 (βf + 1)− γ4
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and
βi = γ2/2

βf =
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and the constants

me = 0.067m0,m0free electron mass
ε = 13.1

Γ = 1/2.0s−1

nr = 3.2.
ξeff/ξ0 = 1
αfs = e2/~c

And the values of γ = 1.0, 1.5 e 2.0.

1


